H&T XII fawg : g T Pls: 585
qHY: 3 Ue T 3iP: 88
Time: 3 Hours Total Marks: 80
1. 39 UY U7 & 38 UY §, ol IR Wel g, &, A, S & fawfora 7

2. 9wy sifard &

3. WS TS Uy G 1 ¥ & U4 &1 TP UY 1 3P 13|

4. s §t & Uy GBI 21 ¥ 29 H 1 3ifq Hierd IR 12U & Uy €. AP UY BT I
THIT 25-30 sl A 3T &1 AHdT g1 TP UY 2 3P P12

5. TS U & UY W11 30 ¥ 35 § B8 AY SR UPR & U4 & | TAD UY BT I ATH
75-125 Xeqi A 34T oI Tovd1 31 TS UY 4 3P o1 8|

6. TS I & UY W 36 § 38 H i <t I U &1 AP UY BT IR TATHIT 150-
200 Y3l § a1 ST IdT 81 Ud® UY 6 3 &1 g1 UY BT 36 BT I¢) 3T 7T T=iw
P ergdr I faar s

General Instructions: -

1. This question paper consists of 38 questions, which are divided intofour

sections: A, B, C, D.
2. All the questions are compulsory.

3. Question no 1 of Section A consists of twenty questions. Each question

carries 1 mark.

4. Question no 21 to 29 of Section B consists of nine very short answer
Type questions. The answer to each question may be given in about 25-30

words. Each question carries 2 marks.

5. Question no 30 to 35 of Section C consists of six short answer type

questions. The answer to each question may be given in about 75-
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125 words. Each question carries 4 marks.

6. Question no 36 to 38 of Section D consists of three long answer type
questions. The answer to each question may be given in about 150- 200
words. Each question carries 6 marks. Question no 36 will be answered

with the help of given passage

HIT-1
PART-A

Q1. Colonialism gave birth to which of the followings?

JufAaRrarg A fAufaRad & J fbga! 5= faar?
* Nationalism B. Industrialisation  C. Castism D. Capital
T. yare CIE CIUIER . oifdare S gt

Q2. Which of the following is not hands part of public transport?

fafafad & ¥ o 91 grdse gRkag &1 g1y arel i 81 82

*  Metro B. local bus C. Trainee D. Motorcycle

T O o FF I 3 gl 31, e
Q3. Who is known as father of society?

T & faT & =9 H fbd S S 22

* Biersted B. George Simmel C. Botomore D. August comite

T foRcs CIRSICARE BIACIEEIN 8. S PlAEe
Q4. How many Varna's are in Indian state in India?

YR H YRAT g H foba auf 2

« One B. Three C. Four D. Five

T D CiGIE] . IR SIRCIC]

Q5. Which is the most populated state is India?

YR BT G99 Hfh SHIDAT aTelT 1Y bI IT 82

Downloaded from cclchapter.com



» Uttar pardesh B. Haryana C. Goa D. Punjab

T IR UG ot gfeamom . Mar SIRCEIE]
Q6. When did family Planning Programme Started in India?
YRd H URAR oM SRishH b TRH gair?
A. 1950 B. 1952 C. 1956 D. 1958
T. 1950 &t 1952 1. 1956 81, 1958
Q7. From which language word Caste is originated?
ST e &1 IR fbg U & §5 872
* Portugal B. French C. Spanish  D. Dutton
T. g Cile| BIRIER 8l gcA
Q8. Which of the following is Schedule Tribe?
fuffad & ¥ 19 T srgfd St 82
+ Gond B. Santhal C. Bheel D. All of them
T. TS RIS 1. fid 1.3 gt

Q9. Which part of society is related to Discrimination Protection Policy?

VeHTd T&HUT I BT Teiyy Ja & g W A 82

* Upperclass B. Middle class C. Dominant Centre D. SC
T 3 T &t TegH o B IRCLRC G 4 8. sc
Q10. Who wrote Analogy of Religion?
TSl 3T Reftor e ferdt?
*  Bishop Joseph Butler B. Jyotibha Phooley C. Rlanade D. Pt. Nehru
. fo=Y Sw Seer & Jifad pa dI@Fe 3. e

Q11. Which is largest state in term of Area in India?
AT B Y T HRA BT I TST o I 1872

+ Tamil Naidu B)Rajasthan C. Sikkim D. Assam
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Q12. When did Minority Commission formed?

3CUHBID ATANT BT TS Dl g1
. 1972 B.1976 C. 1978 D.1988
T. 1972 §1. 1976 . 1978 S1. 1988

Q13. In which method less people can be included in Project work?

g faftr 3 ufvaiorT &1d & oH dFTl &) i fhar S JahdT g2

* Interview B. Survey C. Observation D. None
T. HIETHR &t Tdeor . sraeA S1. BIg T8l
Q14. How many types of observational studies are there?
I TEeh 31T o THR F g 82
* Four B. Three (C. Two D. Five
T TR CiMGIE] R SRCIC]
Q15. When was the start of Industrialisation in India?
YRA H STl BT Y3 b g5
« 1854 B.1900 C.1947 D. 2023
T. 1854 1.1900 1. 1947 8. 2023

Q16. What is the meaning of Secular?

yHARUe T o 37 g7

+ Dominate of one Region
T. T &3 b1 UYd

* Auspicious

o gy

* Miyan Malhar

. fral AeeR

* All Religions are Equal
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Q17.How many tiers are there in Indian Panchyat System?

YR UTad Sga=T § fha wR 82
. 3 B.4 C. 2 D)10
T 3 d. 4 .2 3. 10

Q18. Which of the Following state celebrate "BIHU"?

frgfoRed 3 9 &F a1 9 fog” 9911 82

*+ Assam B. Punjab C) MP D) Kerala
T 39" CIMCEIC] It Tdt 81 bR
Q19. When did globalisation start in India?
YRA B iR &1 YI3HTT Hd g2
« 1990 B. 1991 C. 1992 D. 1993
T. 1990 |t 1991 t. 1992 811993
Q20. Mass-Communication is made up of how many words?
ANY-HRAH T o Weal I IR o1 82
s 2 B.3 C.4 D.5
T 2 .3 i 4 gl 5
HIT-2
PART-B

Q 21. Write down any two definitions of sociology?
OISR B Dls &l GRS fafae?

Q22. What do you mean by duties?

FHacdl J Y FIT A 8 2

Q23. Define Sex Ratio?

ISUIGCIGEAR IR IN G T,

Downloaded from cclchapter.com



Q24. Write a definition of schedule tribe?

RIS SIS DT gy ferRau?

Q25.Write two difference between caste and varna?

oiTfel SR 9uf H &Y 3feR fefag?

Q26. What is surplus value?

Sffafed goo &1 82

Q27. Define Etymological meaning of Prejudice?

qarig &1 Wifead 3 afRuTiyd &¢?

Q28. How many languages are enshrined in 8th lest of constitution?
8d Sifau & fasat yomd fAfed 82
Q29. Define cultural differences?
Hiepldd 3R I aRUTIT B2
HIT-3
PART-C

Q 30. What do you understand by Sociology? Writes down two characteristic?
TR ¥ 319 1 JHId 52 &l faRar farae?

Q 31. Explain Untouchability?
YIS ® ?

Q32. What is weekly markets? Write down its work strategy?

TP SI9IR T 82 9B] BRI fau?

Q33. Define culture and write down any your characteristics?
Tpfa o R 3 3R Ut i fa=eand ford?

Q34. Describe the Role of Revolution and Progress in social change?

IrTiTe uRads & wifd 3R Umfa & YfHesT &1 quie 7
Q35. Define Panchyat Raj system and its objectives?
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HI-4
PART-D

Q 36. Since the 1990s, the government has adopted a policy of liberalization. Private
companies and foreign companies are being encouraged to invest in them. Earlier these
were reserved for the government, like telecommunication, civil aviation and energy etc.
License is not required to open industries. Now foreign taxes are easily available at Indian
shops. As a result of liberalisation, many Indian companies — small and big — have been
bought by Bareilly companies. At the same time, some Indian companies have become
small and big multinational companies. The first example of this is when Parle drinks were
bought by Coca Cola. Parle Beverages has an annual revenue of Rs 250 crore, while Coca
Cola's advertising budget is Rs 400 crore. This level of advertising naturally increased
consumption, a tradition Coca-Cola has replaced in many Indian beverages today. Another
important area of liberalization could be retail trade. The government is attempting to sell its
shares of public companies to private sector companies in a process called divestment.
Many government employees are afraid that they may lose their jobs due to disinvestment.
Modern Foods, which was created by the government to provide healthy, affordable food
and was the first company to be privatized, laid off 60 percent of its employees in its first five
years. A6

1. Since when has the government adopted the policy of liberalization? 2. What is not
desirable about opening of industries?

3. Where are foreign goods easily available now? 4. Who has bought Indian companies?

5. What was the annual income of Parle Beverages?

6. The government is trying to sell its shares in public companies to private sector
companies, what is this called?

goes?

T 1990 & P T WBR A IGRIBRU BT Hfd 1 3emn 71 o bufai, fag=ft ot ot 34
ﬁﬁémmﬁ%%um%amwwél o8 Ugd ¥ WeR & oy, oY RUTR, ARG
IS Ud Holt IS F oy sRfda &1 I &1 Wer & forg st (@rsw) aifed et |
39 YR g IR el 3 S ¥ Iuas ) o &1 SERIGRU & URUMTTRGY 9gd 9
YR HUAT-BIET Td 981 &1 SRai Huf-al A Wie form g1 1Y 8 I1Y $§ YR dufar
gge3ig Hufal Bt Td 98t &9 T | IYDT Ul SaIeRUl § Od URA UF &1 HIdhT Hieh
WRIeT| URA UT &1 AT SHGHT 250 HRIS ¥ I, Saids Didhl didl &1 fagu- deie 400
B BUT 2| TASI0 &7 U8 TR WP U J SYHNT B 51 Sl 8, ULURT BT Hlell 3 3ol
Hs YRA U} &1 M @ o 81 ISRBRU1 BT AT AUl & el IR g vl g
IRBR Aol Haa & U= fexdl &) ol &3 &1 gl B sa- &1 9 o Gl 6, o’
faf P d a1 ord 1 B BN HHAR 3T 1aHfid & i et s & FRu 6 Tt 7
el ST | IS B bl WRHR 3 WRHaHD 1 THT Juasy HH & o -1 o, 3R a8
ﬁ\‘sﬁéﬂmwaﬁwﬁ qreft ugalt ot ot 7 60 UfaRId wHaTRAY @ Ugd Ut aut # SfeR- Yargad
D A6

1. DR 7 ISRG 1 I B e I (TR 82 2. TN b1 W b for 1 aifesd ] &7
3. 319 fa=ht vl FHal SMTIF ¥ IUTT B STl 87 4. HRAIT SHufal &1 foan wile foran 82

5. URS U & AT 3G fara off?

6. PR Aol HuHal & o T &1 Aol &7 &t Hufat &) a9 &1 T HR @1 €8, 30
1 BEI
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Q37. Explain the meaning of Project work. Write down steps of social survey?

Tiolae B o1 3 WY B | JrHTorD Jdarum & TRuT falRgu?

Or

Write down two Positive and two Negative points of Globalization Discuss & draw
conclusion?

iU & Gl AHRIAD 3R &l THRIAD fag ford, Tdi B 3R e Fapra?

Q 38. What is colonialism? Write down the effects of colonialism on Indian society?

JUHARraTe T 82 YR JHS IR IUHIRarg & gHTal &1 fafau?

Or

What is industrial society? Explain its characteristics?

3TN AT T 82 S9! [ARVAN sarga?
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